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(1) Zdfri(v) YTHOEREICEY v = 10 %
(2) Bl A58 (m)
al= . 053'805,V = 1.214 a2 = . 13.0,\/ = 1.209
100 1004/ 3
m = a1 X SL = 1.214 X 24 = 29.2 N/mf
YoT m = 29.2 Nmt
(3)/kEA L FEE(W/C) m = -15.5 + 24.2 X C/W
W/C = 24.2 = (29.2 + 15.5) X 100 = 54 % = [55%(LBE1 )]
"W/C = %
(4) BALKE (W) YT OERIC ot@ W = 166 ke /mi
(5)HpNrE A FE(C) C =W =+~ (W/C) X 100 = 166 — 54 X 100 = 307 ke/m
Cv= C + 2 = 307 ~ 3.02 = 102 1/m
(6) 22518 (A) A =45 % X 1000 = 45  1/m
(TEBEMHEME(G) HTHOFERKICLY EFFE = 0.642 m/m EFER = 61.0 %
Gv = 0.642 X 1000 X 61.0 = 100 = 392 1/m
G = Gv X R = 392 X 2.69 = 1054 kg/m
(8) HALMIEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 705 = 295 1/m
S = Sy X FEWIEEEF = 295 X 2.57 = 758 kg/mi
(9)MEA = (s /a) s/a = Sv = (Gv+Sv) X 100 = 42.9 %
(10) BAIEFAIE (Ad) Ad = C X WINE X HBE = 307 X 0.8000 % X 1.00 = 2.46 ke/mi
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